
Proceedings of the 5th Workshop on South and Southeast Asian NLP, 25th International Conference on Computational Linguistics, pages 11–19,
Dublin, Ireland, August 23-29 2014.

11



XygZpIbr �`g¡f�Y8ī
OQG} >�`]§
qXg4Ly ě&¡`¬
XygpXayZ �`¡YGĩ�f
jøygaĘap W�`¶T�YÃä

12



V

C Cnj

D

M

si sf E Σ

S S−a

Snj Cnj Snj−a

S← C ∗ VD? S−a ← C ∗ (V− a)D? Snj ← Cnj?CVD? Snj−a ← Cnj?C(V− a)D?
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M

Bm = E →M/Pre Suf

Wf = a→ E/(BiS + C+) Bf | →
W3 = a→ E/(BiSC) (S−aBf ) | →
W3vy = a→ E/(BiS(y|v)) (SBf ) | →
W4 = a→ E/(BiSC) (SnjSBf ) | →

W4y = a→ E/(BiSSy) (SnjBf ) | →
W43 = a→ E/(BiSS−aC) (SnjBf ) | →

WP2 = a→ E/(BiSC) (SnjSS + Bf ) | →
WPl = a→ E/(BiSS(y|l|v)) (SnjSS + Bf ) | →
WP3 = a→ E/(BiS−aS) (SnjSS + Bf ) | →

Wtri = a→ E/(SC) Snj | →
Wgrm = a→ E/(BiSSS + (w|y)) lVD?) | →

Br

Wd = Bm ◦W3 ◦W3vy ◦W4y ◦W43 ◦WP2 ◦WPl ◦WP3 ◦Wtri ◦Wgrm ◦Wf ◦Br

? C ļa
ļk 0 3 O� X�

Rvc

Ri = ī→ i/(C + D?Bf | →
Ru = ū→ u/(C + D?Bf | →

Rvmk

Rkn = Wd ◦ Rvc ◦ Ri ◦ Ru ◦ Rvmk

I

Rknp = π2(Rkn ◦ I)

Rknp Rknm

ALkn

Tknl = Rknm ◦ALkn
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Nknrm

Lp = π2(I ◦Nrmkn) ◦Aind

Tkn2rm = Lp ◦ALkn or Tkn2rm = shortest(Lp)

Wd

Tdv2rm

Lp = π2((Wd ◦ I) ◦Ndvrm) ◦Arm

Tdv2rm = Lp ◦ALrm or Tdv2rm = shortest(Lp)

17



Lp = π2((Wir ◦ I) ◦Nrmdv) ◦Aind

Trm2dv = Lp ◦ALdv or Trm2dv = shortest(Lp)
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